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1.42(20K) -7

Which of the following is equivalent to the above
expression?

A. 42 (20+K) -7

B. 42 () -7

C. 20k 42-7

2
D.(4 ’-{20) .7
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2k 43 _I
f
Which of the following is equivalent to the above

expression?
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3 ) N

"3(a+b)
Which of the following is equivalent to the above
expression for az-b?
A. 1l

B.9
1
C. a?+b?
1

‘a2+2ab+b2
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Which of the following is equivalent to the above
expression?
A (ax)(im)

" (by)(Un)
a(bm)n

" x(yi)j
C (ab)(ij)

(xy)(mn)
D a(bx)y

im)n
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5 min 4 _ (x—4)(x+4) _I
C 4 m+n 4(m+n)

Which of the following is equivalent to x if the

above equation is true for all m#n?

A Vm—n

B.vm+n

C. m-n

D. m+n
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6.(am)n-amn _I
Which of the following is equivalent to the above
expression?

A. 2amn

B. aZmn

C amznz
D am“ +mn
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x?>-2x-8 x+2 \
7. x+3 " x+3 . _ .
Which of the following is equivalent to the above

expression for x#—-3?
2(x—4)(x+2)
3(x+3)
(x—4)(x+2)?

xX+3
(x—4)(x+2)?

" x2+46x+9
2(x—4)(x+2)

" x24+6x+9
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8.(w—D(w+2) _I

Which of the following is equivalent to the above
expression?
A (w=-3)(w+7)

B (2w+72)(2w—3)

C (W—3)(%v+7)

D (2w+;)(2w—3)

4
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a+b a+b \
9'6—_d " d—c . . .
Which of the following is equivalent to the above
expression for c#d?

A.0

AME RGP AT T AW, e T W TN P S50 -, s L A" A T T4 "L T A A W



koolearn'
R P12




